2s +11

X(s) = —— 27
)= Z 15718

Y(s) = X(s)H(s)

252 4+ 8sw + 11s + 4w3

YO = @roner+ 15+ 18)
. s(2s + 11) + w(8s + 4w?)
©) = T+ NE T2
s(2s +11) + w(8s + 4w?) A B C

(s2+w?)(s+9)(s+2) 12 579 512

I think this is correct to this point.
s=-2, w=0

s(2s +11) + w(8s + 4w?) = (A)(s+ 9D+ 2) + (B)(s?2 + wH)(s + 2) + (C)(s? + w*)(s +9)

—2(—4+22) + w(—16 + 4w?) = (A)(7)(0) + (B)(4 + 0w?)(0) + (C)(4 + w?)(7)
52+ w(—16 + 4w?) = 7A + (4B + Bw?) + 28C + 7w?C
7A + 4B + 28C = 52

s=-9, w=0

s(2s +11) + w(8s + 4w?) = (A (s +9)(s +2) + (B)(s*> + w?)(s + 2) + (C)(s*> + w?)(s +9)

—9(=18+11) = (A)(-9+9) (-9 +2) + (B)(81 + w?)(=7) + (C)(81 + w?) (=9 +9)

63 = —7A+ 567B + 81C

A+4B+4C—73
7 7



